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Instructions:

= Write each answer on a new page.
= Use of a calculator is permitted.

= * COs=Course OQutcome mapping. # BTL=Bloom’s Taxonomy Level mapping

]3(;_ ' g . ' Details : Marks COs’
Q1 Calculate the quantities for specified items and quote the final rate specifying brief 20 coL
description considering the following rates. Loz
1] Excavation at Rs. 1000/m’
2] RCC Footing at Rs. 15000/m’
3] RCC Slab and Beams at 20000/m’
4] External walls plaster in CM (1:4) at Rs 250/m?

Cc1 & G W ] 7 Footing size Depth of footing Column
YP¢  1xB) d D size
Ci/Fy 175x1.40 030 0.65 0.60x0.45
Cy/F; 150x150 035 050 0.50x0.30
Ci/Fs 140x1.60 020 030 0.30x0.30

Notes:

= All walls: 30 cm thick

= Excavation depth: 2m

= 0.1m thick and 0.15m bearing for PCC
= Plinth Beam c/s: 0.3m x 0.45m

= Slab Thickness: 0.125m

= Beam at Slab level ¢/s: 0.30m x 0.45m
s Plinth Level: 0.60m from G.L

= Total Floor height: 3.125 m

= Parapet height: 0.9 m

= Bearing of footing for column: 50 mm
*D =15mx21lm

*D,=10mx21m

=W =1l6mx12m

"W, =10mx12m
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Attempt the following (Any 2)

(1) Enlist the types of building contracts. Explain difference between item rate and
lumpsum contract.

(1) \T&-’hlch are ways for the invitation of tender? Give a comparison of them as a
list to be viewed at a glance.

(iii) Explain the 4 envelope method of an open tender.

03 Prepare an approximate estimate of building project with total plinth area of
All building is 150 sqm. and from following data:
Plinth area rate Rs. 50000 per sqm
Cost of water supply @7":%of cost of building.
Cost of Sanitary and Electrical installations each @ 8/2% of cost of building.
Cost of architectural features @2% of building cost.
Cost of roads and lawns each @2.5% of building cost
Cost of contingencies @5% of building cost..

Add suitable profit.

Q4 Explain the parameters affecting Rate analysis. When and why are they required?

[l pety

Find the quantity of bricks, cement and sand required for 10 m?® of brickwork in CM

(1:6).
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